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Prediction of Air Pollutants Concentration with Fitting Curve

LU Yurhe', LIANG Hong®, HUANG Xr jian®, QTAO M iac jie’
(1. Nansan Environmental M onitoring Station ¢ Shenzhen, Shenzhen, Guangdong 518052, China;

2. Shenzhen Environmental Monitoring Station, Shenzhen, Guangdong 518008, China;
3. Shenzhen Weather Bureaw, Shenzhen, Guangdong 518001, China)

Abstract: The monthly average value and annual average value of SO, in air in Shenzhen from 1991 to 2000 were studied,
and its mathematical expression was reached. For case study and serial regression analysis, t he results indicated that the change sit-
uation was coordinated with the change of fitting curve.
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